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(1) Use of Programmable calculator & any other electronic instrument is prohibited.

(2) Instructions written on main answer book are strictly to be obeyed.

(3) Draw neat diagrams and figures (if necessary) at right places.

(4) Assume suitable data if needed.

Attempt the following questions:
(A) Commutation means

A) to turn on the SCR B) to turn off the SCR  C) either Aor B
(B) Negative resistance available in................

A) SCR B) UJT C) Transistor
(©) Fixed DC to variable DC converter is called

A) inverter B) rectifier C) cycloconverter
(D) In transistor analogy of thyristor consist of two transistor......

A) Both NPN B) both PNP C) one PNP and NPN
(E) oo is a four layer device

A) SCR B) UJT C) Transistor
(F) Identify the electronics device which works on light

A) LASCR B) LASER C) MOSFET
(G) SCR will turn on without damage if and only if sufficient ............... is applied

A) gate voltage B) supply voltage C) both Aand B
(H) is an unilateral device

A) WT B) SCR C) DIAC
) Inverter converts ................... voltage

A) fixed AC to DC B) DC to Variable C) DCtoDC

AC

J) Simplest method of commutations is .......... commutation.

A) Class B B) Class C C) ClassE

(K) Photo relay circuit can be worked with ...................

A) LED B) Photo Diode C) Phototransistor
(L) The number of doped region in SCR is
A) two B) three C) four
(M) In full wave controlled rectifier.......... thyristor and ............ diode is used
A) 2.2 B) 3,1 C) 40
(N) A circuit which convert AC signal into DC is called ..........
A) inverter B) amplifier C) chopper

D) none of above
D) all of above
D) chopper

D) none of above
D) both Aand B
D) none of above

D) none of above

D) SCS

D) none of above

D) Class D

D) all of above
D) five
D) none of above

D) rectifier
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Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

Q-4

Q-7

Q-8

w >

Ow>

w >

Ow>

ow>

w >

Attempt all questions
Explain TRIAC in detail.
Explain the applications SCR and DIAC.

Attempt all questions
Compare Transistor and thyristor.

Explain SCR with necessary diagram of equivalent circuit of internal structure

Explain UJT in detail.

Attempt all questions

Compare open loop control system and Closed loop control system.
What is servo mechanism? Explain servo mechanism with block diagram.

Attempt all questions

What is commutation? Explain Class C and Class D Commutation method with

necessary circuit diagrams.

State the advantage and disadvantages of poly phase rectifier over single phase

rectifier. Explain the operation of three phase half wave rectifier.

Attempt all questions

Explain class A and B chopper in detail.

Explain advantages of electrically controlled devices.
Define dark current, rise time, and skin effect.

Attempt all questions
Explain Light operated photo relay with necessary circuit
Explain resistance welding in detail.

Explain working of UPS with necessary block diagram.

Attempt all questions
Explain dielectric heating in detail.
Explain Induction heating in detail.
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